Equiv. PT at 100 m, HROOOMMOO

SEEEEEERERERIGEE

rot qt100 FHR=000

Equiv. PT at 100 m, HROOOMMOO

SEEEEEERERERIGEE

Equiv. PT at 100 m, HROOOMMOO

SEEEEEERERERIGEE



Equiv. PT at 100 m, HROO3IMMOO

Wi A0 210 M= B, 124

LON

S

EEEEESEEEEERS

rot qt100 FHR=003

Equiv. PT at 100 m, HROO3IMMOO

S

EEEEESEEEEERS

Equiv. PT at 100 m, HROO3IMMOO

4H

L

ED

LAT

18

S

EEEEESEEEEERS



Equiv. PT at 100 m, HROOEMMOO

B 1A 15H = 380,400

LON

SEEEEEERERERIGEE

rot qt100 FHR=006

Equiv. PT at 100 m, HROOEMMOO

4H a5
180
M 7S
70
M 345
09
357
=4
'—
EQ
- . 181
. 148
45
15 342
139
%5 136
333
s 330

W= D4 18D WA= 380135 LION

- ED

Equiv. PT at 100 m, HROOEMMOO

4H

3H

2H

L]

SEEEEEERERERIGEE



Equiv. PT at 100 m, HROOSMMOO

SEEEEEERERERIGEE

rot qt100 FHR=009

Equiv. PT at 100 m, HROOSMMOO

SEEEEEERERERIGEE

- ED

Equiv. PT at 100 m, HROOSMMOO

4H

3H

2H

L]

SEEEEEERERERIGEE



Equiv. PT at 100 m, HRO12ZMMOO

EEELEFEERERERZGEE

rot qt100 FHR=012

Equiv. PT at 100 m, HRO12ZMMOO

EEELEFEERERERZGEE

Equiv. PT at 100 m, HRO12ZMMOO

EEELEFEERERERZGEE



Equiv. PT at 100 m, HRO15SMMOO

EEELEFEERERERZGEE

rot qt100 FHR=015

Equiv. PT at 100 m, HRO15SMMOO

. y
=R TS s DR K05 LﬂH

EEELEFEERERERZGEE

Equiv. PT at 100 m, HRO15SMMOO

EEELEFEERERERZGEE



Equiv. PT at 100 m, HRO18MMOO

d LI
W= J4E, 154 WA= BE.1 LION

EEELEFEERERERZGEE

rot qt100 FHR=018

Equiv. PT at 100 m, HRO18MMOO

ES . i X
= 34T 0 s 380270 Lﬂ”

EEELEFEERERERZGEE

Equiv. PT at 100 m, HRO18MMOO

W= D41 EAH M= BE2 DS J H

EEELEFEERERERZGEE



rot qt100 FHR=021

Equiv. PT at 100 m, HRO21MMOO Equiv. PT at 100 m, HRO21MMOO

+H e 345 345 345
WA J 375 375 375
- 37 37 37

N 45 45 45
] ] ]

m 57 57 57
E 0 354 354 354
51 51 51

" 1l 1l 1l
345 345 345

55 342 342 342
339 339 339

- 33 33 33
b k| b k| b k|

45 33 33 33

W W I
Ri= 100 50 W= 164,18 LION W= 8BS M= B BE LION W= 100 500 M= BE00T LION

W W I W W I



Equiv. PT at 100 m, HROZ4MMOO

W W I
W= 100 B R =386 D6

EERERRE:

351
14
5
el

EEEE

rot qt100 FHR=024

W W I
Wi 100, PR M= BEA. 148

BEREEIIEE

348
45
e

EEEE

Equiv. PT at 100 m, HROZ4MMOO

W W I
W= 10 0A0 W= 185 08

BEREEIIEE

348
45
e

EEEE



rot qt100 FHR=027

Equiv. PT at 100 m, HRO2Z7MMOO Equiv. PT at 100 m, HRO2Z7MMOO

 al S— a
T A -

N | ias 4N AN 185
Lt il Lt il Lt il
75 L 75 75
b b b
45 Y 45 45
0 0 0
a7 m a7 a7
354 354 354
as E - as as
XiH " XiH XiH
145 145 145
242 - 242 242
133 133 133
138 = 138 138
i i i
30 4% 30 30

W W I
Wi A0, 18T M= BET DED LION Wi 145 M = 3RS B LION W= YL ET] W= 308 SAE LION

W W I W W I



rot qt100 FHR=030

Equiv. PT at 100 m, HROJOMMOO Equiv. PT at 100 m, HROJOMMOO Equiv. PT at 100 m, HROJOMMOO
i - - 188 " PR e 188 i ; 188
Lt il Lt il : Lt il
s 75 s 75 s 75
b _ b [ b
2H 5 2H 5 2H 5
P, 0 0 0
i . M . M .
354 354 354
E - as E - as E - as
18 e 18 e 18 e
145 145 145
- 242 - 242 - 242
133 133 133
i 334 5 338 5 134
i i i
- 330 - 330 a5 M 330

WO N 1w
W= B0 5T M= 3E0.5TY LION BN e D L L] LION R 41 TAl M= 560,192 LION

WO N 1w W Iw W



rot qt100 FHR=033

Equiv. PT at 100 m, HRO33MMOO Equiv. PT at 100 m, HRO33MMOO Equiv. PT at 100 m, HRO33MMOO

4H s 4H s 4H s
LE i) LE i) LE i)
s 75 Hp 75 s 75
L L L
2H 245 2H 245 2H 245
0 0 0
1M . 1M . 1M .
= 354 = 354 = 354
EQ EQ EQ
j 351 j 351 j 351
XiH XiH XiH
18 18 18
145 145 145
= 242 = 242 = 242
13 13 13
o 138 o 138 o 138
333 333 333
@ 330 T3 330 - 330

W W I WO N 1w

Wi 040,15 X = 3T A5 LION Wi TR0 M= BET 508 LION R a0 B0 W= 160 2D LION

WO N 1w



Equiv. PT at 100 m, HRO3EMMOO

! .

E EC
18
5
35
45
L |
W= 13 B X =371 263 LION

EERERRE:

351
14
5
el

EEEE

rot qt100 FHR=036

Equiv. PT at 100 m, HRO3EMMOO

4H

2H

L

E EC
18
5
35
45
W W I
W= 41 P27 M= 3R 480 LION

BEREEIIEE

348
45
e

EEEE

W W I
Rir= 130 BL] W= 38008

BEREEIIEE

348
45
e

EEEE



E-:|ur'.r F‘T at IEIU m, HHGJEHHGU
3 ‘\'f‘v" A3

W W I
W= Y40 ERS M= T 075

rot qt100 FHR=039

Equiv. PT at 100 m, HRO39MMOO

W W I
R B0, 108 WA= 3E0 DT

RiPd= 140,47

Equiv. PT ut 100 m, HHGJEHHGU

L |

i = LERTEN

BEREEIIEE

348
45
e

EEEE



L |
W= B0, TAT M= TT0. TS

W

EERERRE:

351
348
45
e
1k

EE &

rot qt100 FHR=042

Equiv. PT at 100 m, HRO42ZMMOO

L |
W= 13 BOT WA= TT0 25T

W

Equiv. PT at 100 m, HRO42ZMMOO

L |
W= A0 POD = B BT

¥
"
ar
2
[
L}
il
[
-
-

I ':. .Ir_'I:"l.

b

"un_‘-'l{"

BEREEIIEE

348
45
e
1k

EE &



Equiv. PT at 100 m, HRO45SMMOO

N 5 s . £y
b R e e ] e T

-ll:na..{ '._ "f‘l.r ff.ihqll ar a5
r ) ) 350
] 2T
& 1|
2H 5
bl o)
" 357
354

E EC
351
Lo T ]

1%
M5
% e
] 1%
- 136
333
4% 35

W W
W= 10 A b= X724 LON

LAT

rot qt100 FHR=045

Equiv. PT at 100 m, HRO45MMOO
-'1 '-il - -_;-l'; "f'._." --‘
4

L |
W= 130 B00 M= TT) 440 LION

BEREEIIEE

348
45
e
1k
336
333

Equiv. PT at 100 m, HRO4SMMOO

W= 040,197 Wi= 380,158 LION

BEREEIIEE

348
45
e
1k
336
333



rot qt100 FHR=048

Equiv. PT at 100 m, HRO48MMOO Equiv. PT at 100 m, HRO48MMOO Equiv. PT at 100 m, HRO48MMOO

. TS ST e ! e e
L 75 75 75
T T T

N 45 45 45
0 0 0

m a7 a7 a7
- 324 324 324
j - as as as
" XiH XiH XiH
145 145 145

2 142 142 142
114 114 114

o 136 136 136
i i i

4% 30 30 30

W W I

L |
i A0, 50 M= T T LION W= 14007 M= T B0S LION BRI PR L LION



rot qt100 FHR=051

100 m, HROS1MMOO Equiv. PT at 100 m, HROS1MMOO

; R 22 Ve - ; .
; y 130 130
3H F i a7y 3H a7y
3 3
ZH 5 ZH 5
360 360
" 387 " 387
124 124

E £D E £D
151 151
148 148

1% 1%
145 145
25 H2 25 H2
1Xa 1Xa
- 336 - 336
333 333
4= 330 4= 330

W= 100080 WA= TT2ETE

L ER R W T B b

W= 141 B00 WA= TT0.TOT

BEREEIIEE

348
45
e
1k

EE &



Equiv. PT at 100 m, HROS4MMOO

B ."h L - g

4
{f

.
’

E EQ
15
2%
b
48
W O W IW
Ed= 30 D0 b= NTY000 LION

EERERRE:

351
14
5
el

EEEE

rot qt100 FHR=054

Equiv. PT at 100 m, HROS4MMOO
A iy,

E EQ
15
2%
b
48
)
Rd= 340 001 =TT 27 LION

BEREEIIEE

348
45
e

EEEE

Equiv. PT at 100 m, HROS4MMOO

W= 15 E15 WA= 1T 408

BEREEIIEE

348
45
e

EEEE



rot qt100 FHR=057

Equiv. PT at 100 m, HROS7MMOO Equiv. PT at 100 m, HROS7MMOO Equiv. PT at 100 m, HROS7MMOO

e 5 . - 34y i 34y i
H a7 H a7 H
™ ™
M 5 M 5 M
] ]
m 57 m 57 m
= 354 = 354 =
EC EC EC
j 51 j 51 j
1% e 1% : e 1%
145 g 145
142 - e
%5 =N %5
133 133
= 134 = 134 =
b k| b k|
4% 330 48 ¥ 1

W I
W= J4E 52T M= TT2 04

W= 10 55 X 3745

W I
R D40 00 M= T B0

iw

BEREEIIEE

348
45
e

EEEE



rot qt100 FHR=060

Equiv. PT at 100 m, HROGOMMOO Equiv. PT at 100 m, HROGOMMOO

Bl g : o 188 188 b IR L A bt At Ly

L ; 175 175 I
& i & i

| 5 5 |
2 2

" 357 357 "

E ED o o E ED

a1 a1

- 148 148 - LA
L2 1] L2 1]

55 42 42 254
138 138

- 136 136 -
333 333

L 330 33 45

RiPd= 34004 = TTY.042

W= 138 107 WA= TT1. M0

W= D40 BN M= TT2.008

BEREEIIEE

348
45
e
1k

EE &



rot qt100 FHR=063

i
W= 13 502 Wi= TT1. 248

Equiv. PT at 100 m, HROG3MMOO Equiv. PT at 100 m, HROG3MMOO
a5 w i & | ., Ry | a8 " - Y
. 1
a7y 3H a7y 3H
3 3
s M s M
] ]
57 m 57 m
354 — 354 —
2 j EC 2 j EC
e 1% e 1%
148 148
M2 " M2 b
130 130
138 . 138 .
b k| b k|
33 45 33

=107 WA =273

W= 040,207 Wi= T B8

BEREEIIEE

348
45
e
1k

EE &



EERERRE:

351
348
45
e
1k

EE &

W= 040 002 M= TT 180 LION

rot qt100 FHR=066

Equiv. PT at 100 m, HROGEMMOO
" Y v T

E ED .
18
5
35 {0 T
45t T
4 b 1w [a] 1E 2E 3 4
MR s T LOMN

BEREEIIEE

348
45
e
1k

EE &

Equiv. PT at 100 m, HROGEMMOO

L |
L BN R L ]

BEREEIIEE

348
45
e
1k

EE &



=40 648 WA= TT113

EERERRE:

351
348
45
e
1k
336
333

rot qt100 FHR=069

Wi 34 07H WA= TT1.TaE

BEREEIIEE

348
45
e
1k
336
333

Equiv. PT at 100 m, HROGIMMOO

BEREEIIEE

348
45
e
1k
336
333



Equiv. PT at 100 m, HRO72ZMMOO

Lo g . -y

EERERRE:

LAT
8

351
348
45
e
1k
336
333

RiP= 040,10 WX =370 448 LION

rot qt100 FHR=072

Equiv. PT at 100 m, HRO72ZMMOO

4H .if; A . N .\

W= 150487 Wi= TT12 LION

BEREEIIEE

348
45
e
1k
336
333

Equiv. PT at 100 m, HRO72ZMMOO

W= 340,100 =TT 108

BEREEIIEE

348
45
e
1k
336
333



W= 04 BA0 M= TTLRD

i B

S

ERERE

351
348
45
e
1k

EE &

rot qt100 FHR=075

Equiv. PT at 100 m, HRO7SMMOO

4H ?L"'*

WRd= 100 B W =174 A8

—

i B

S

BESEE 3

348
45
e
1k

EE &

Equiv. PT at 100 m, HRO7SMMOO

W W I
W= 4T BT s TTL. TG

i B

S

BESEE 3

348
45
e
1k

EE &



rot qt100 FHR=078

Equiv. PT at 100 m, HRO78MMOO Equiv. PT at 100 m, HRO78MMOO Equiv. PT at 100 m, HRO78MMOO
i 188 +h L . o 188 i Lo - Y

Lt il Lt il

75 L 75 HE

b b

5 2H 5 2H

0 0

a7 m a7 m

354 = 354 =

2 j EC 2 j EC

e 18 e 18

145 145 :

242 - 242 -

133 133

138 = 138 =

i i

330 45 33X 45

o) W W I
W= 141 B0T M= TTA 58 LION W= 10 0 M= TS B0E LION W= YL ET] M= TTE. Y LION

i B

BESEE 3

EEEE



Equiv. PT at 100 m, HRO&1MMOO

W W I
RiPd= 140005 WA= TS5, 194

EERERRE:

351
14
5
el

EEEE

rot qt100 FHR=081

Equiv. PT at 100 m, HRO&1MMOO

2H

L

EQ

LAT

18

W W I
W= YLD M= TTE T

BEREEIIEE

348
45
e

EEEE

Equiv. PT at 100 m, HRO&1MMOO

W W I
W= 04 510 M= T2 EAG

iw

BEREEIIEE

348
45
e

EEEE



EERERRE:

351
14
5
el

EEEE

WO N 1w o) 1E iE b 3 4E
W= 100 50 M= TTE. 134 LION

rot qt100 FHR=084

Equiv. PT at 100 m, HRO84MMOO

M i *W

2H

L

E EC
18
5
35
45
WO N 1w o) 1E iE b 3 4E
W= 1402 MAN=XTE.1TH LION

BEREEIIEE

348
45
e

EEEE

4H

M
1M .

EQ

LAT

18

W W I
W= 141 R M= TT2 B4

Equiv. PT at 100 m, HRO84MMOO

S

BEREEIIEE

348
45
e

EEEE



Equiv. PT at 100 m, HRO87MMOO

O R
3H - 1 L . a7y
& 1|
2H 5
bl o)
" 357
354

E EC
351
Lo T ]

1%
M5
54 2
1%
- 338
333
4% Jat . 35

4 W W I o] iE iE x 4£
Rd= 108 15 Wi =375 AT LON

LAT

rot qt100 FHR=087

Equiv. PT at 100 m, HRO87MMOO

WO N 1w o) 1E iE b 3 4E
Wi A0 TR M= TTE S84 LION

BEREEIIEE

348
45
e
1k

EE &

W W I
W= 141 1T M= TT1.088

iw

BEREEIIEE

348
45
e
1k

EE &



E-:|ur'.r PT at 100 m, HHEIEIUHHEIU

W= 138 427 M= TT5 NaE

EERERRE:

351
348
45
e
1k

EE &

rot qt100 FHR=090

Equiv. PT at 100 m, HHEIEIUHHEIU

L |
W= 04 B12 W= TTE B

BEREEIIEE

348
45
e
1k

EE &

Equiv. PT at 100 m, HHEIEIUHHEIU

W= 130, T2 Wi= TT1.T58

BEREEIIEE

348
45
e
1k

EE &



RiPd= 150 482 W= TT5. T8

EERERRE:

351
348
45
e
1k

EE &

rot qt100 FHR=093

Equiv. PT at 100 m, HRO9IMMOO

W= 04 B2E WA= TTE 280

Equiv. PT at 100 m, HRO9IMMOO

i
W= 141 63 M= TTDEES

BEREEIIEE

348
45
e
1k

EE &



rot qt100 FHR=096

Equiv. PT at 100 m, HRO96MMOO Equiv. PT at 100 m, HRO96MMOO Equiv. PT at 100 m, HRO96MMOO

L] a5 a5 ; a5
Lt il Lt il Lt il

L 75 75 75
b b b

N 45 45 45
0 0 0

m a7 a7 a7
= 354 354 354
j - as as as
" XiH XiH XiH
145 145 145

- 242 242 242
133 133 133

= 138 138 138
i i i

4% 30 30 30

R N O = TS M Lﬂ” Y TR e ] il.l"-!'.l'ﬂ.i'ﬂ Lﬂ” R 8 T =TT 2R Lﬂ”

W MW W W 0 E E ¥ £



Equiv. PT at 100 m, HRO9SMMOO

+H 14y
Ea
H a7
™
M 5
]
m 57
354

E EC
51
1l

1%
145
2] 42
133
= 134
b k|
45 = 33

"
R ] A = YO Lﬂ”

rot qt100 FHR=099

Equiv. PT at 100 m, HRO9SMMOO

2H

L

E EC
18
5
35
45 5
WO N 1w o) 1E iE b 3 4E
Wi A0, 158 M= TT7. 105 LION

BEREEIIEE

348
45
e

EEEE

Equiv. PT at

LAT
8

W W I
RiP= 140,507 W= TTa. KD

100 m, HRO99MMOO

BEREEIIEE

348
45
e

EEEE



Equiv. PT at 100 m, HR102ZMMOO

EERERRE:

351
14
5
el

EEEE

RiPd= 143, 500 WA= TT7 NaE LION

rot qt100 FHR=102

LAT
8

-, ¥

WO N 1w o) 1E iE b 3 4E
RiP= 44 510 Wi= TT7 680 LION

BEREEIIEE

348
45
e

EEEE

Equiv. PT at 100 m, HR102ZMMOO

Wi Y ETT M= TTS. T

BEREEIIEE

348
45
e

EEEE



Equiv. PT at 100 m, HR105MMOO

+H{ " r

E EC
18
5
35
45 r :
WO N 1w o) 1E iE b 3 4E
Wi DAl M= TTA. 100 LION

EERERRE:

351
14
5
el

EEEE

rot qt100 FHR=105

Equiv. PT at 100 m, HR105MMOO

4H

2H

L

E EC
18
5
35
45 .
WO N 1w o) 1E iE b 3 4E
W= 8BS T M= TTELEDS LION

BEREEIIEE

348
45
e

EEEE

LAT

Equiv. PT at 100 m, HR105MMOO

2H

L

EQ

18

W Iw W
Wi A 410 M= TT5. T8 LION

BEREEIIEE

348
45
e

EEEE



rot qt100 FHR=108

Equiv. PT at 100 m, HR108MMOO

Equiv. PT at 100 m, HR108MMOO

W W I
Wi D0 B0D M= TR 14

145 +H K2 | 145 +H 1
130 ) 130

375 - 375 -

& 1| & 1|

5 o 5 H
64 64

357 " 357 B
2‘: E Ecf 2‘: E EQ
e 1% e 1%
145 45

2 55 2 55
1% 1%

138 o 138 5]l
333 333

330 45 33 45

W W I
Wi 48, TO A= TTA 214

Wi 040 530 M= TT5.002

Equiv. PT ot 100 m, HR108MMO0
O ' P

BEREEIIEE

348
45
e

EEEE



rot qt100 FHR=111

Equiv. PT at 100 m, HR111MMOO

4H 185 185
Lt il Lt il

L 75 75
.. ¥ b b
145 145

0 0

m a7 a7
354 354

E - as as
" XiH XiH
145 145

. 242 242
133 133

= 138 138

- i i

4% N ¥ ¥

i

WO N 1w
W= 10 E2S M= X7 S

W= JA0ETT M= TT7 DA

= J40 07 = T 0T

BEREEIIEE

348
45
e

EEEE



W= 141 N0 M= TTEEES

EERERRE:

351
14
5
el

EEEE

rot qt100 FHR=114

Equiv. PT at 100 m, HR114MM

LAT
8

W I
Rir= 150 B8] WA= TTA.041

00

BEREEIIEE

348
45
e

EEEE

W W I
RiP= 140 504 WA= TTa. 40T

BEREEIIEE

348
45
e

EEEE



rot qt100 FHR=117

Equiv. PT at 100 m, HR117MMOO Equiv. PT at 100 m, HR117MMOO Equiv. PT at 100 m, HR117MMOO
- [ ) = a8 4N J. 4 A % _H_: e i I'-T'
LE i) LE i)
- 375 - 375 -
L L
2H 245 2H 245 2H
0 0
" b =T " b =T "
— 354 — 354 —
j EC 2 j EC 2 j EC
18 e 18 e 124
145 h ] 145
55 M2 2 . i | M2 55
13 - 13
o 138 o 138 o
333 333
45 3% 45 . A - 3% 45
4 W W W 0 1 2 % 4% W W W 0 1€ & X % W W

W= 1T 50 M= TTE. 184 LION Wi 040, FEY M= TT7 481 LION Wi D0 B M= TT RS LION

BEREEIIEE

EEEE



rot qt100 FHR=120

Equiv. PT at 100 m, HR120MMOO

Equiv. PT at 100 m, HR120MMOO

Equiv. PT at 100 m, HR120MMOO

M 345 M i i L #H b L IR N R
H 375 5 375 M
370 370 .
2H 5 2H 5 2H
300 300
" 387 " 387 "
=4 =4
E £C E £C E £C
351 351
1% e 1% e 1%
: 345 345
'\"I,"' _ 342 15 342 15
; ¥ 1%
15 X 336 15 336 15
333 333
T 330 s 31 1z

W W I
BP0 20 = TTE 48

iw

iE

W W I
W= 100 A0 M= X7 08

W W I
hiP= 130 B0 = TT1E

BEREEIIEE

348
45
e

EEEE



Equiv. PT at 100 m, HR123MMO0

W W I
W= 1T 20 M= TTA T

EERERRE:

351
14
5
el

EEEE

rot qt100 FHR=123

Equiv. PT at 100 m, HR123MMO

W W I
Wi A0 G0 M= TP T

iw

]
LON

Equiv. PT at 100 m, HR123MMOO

W W I
W= 40 K20 W= TTA N

BEREEIIEE

348
45
e

EEEE



rot qt100 FHR=126

Equiv. PT at 100 m, HR12EMMO0 Equiv. PT at 100 m, HR12EMMO0

a5 L] a5 a5
Lt il Lt il Lt il
75 L 75 75
b b b
45 N 45 45
0 0 0
a7 m a7 a7
354 354 354
as E - as as
XiH " XiH XiH
145 145 145
242 - 242 242
133 133 133
138 = 138 138
i i i
30 4% 30 30

¥ w -‘
W= Y41 BT M= T 008 LION Wi 340,077 il;.'-m.llﬁ LION W= 340, 4T M= TT5 0T LION

W W I



